BT

—_

20

21

22

23

24

25

26

27

28

29

30

THSEE BRIEZRFEN AXEXZRTFEEMOLEED)

% ; RRREIP
* % A% L | AFE E LS $¥%E$L ﬁi@:ﬁ)
- {1XR3IRK) il pmEmpE |[SEHR 114,600 Eﬁ(ﬁ%ﬁ*

HRNEEE —EE = ) ' 2630)
REE1635 2 FITTE npag s 2082| EERREE

EH R EEE —REE3685 (TAL |, E M ETAER —
4£1IR) i a0 emm e 47 145| EEREERER

G = —f2EE3688 (AL |, ENELZ : (2630)
JI) p=-4371] = z BRHEB 71,925 B

EHRHEEE —MELE3685 (TR |, E BT KED i
H£3TX) p=-ay) H Z N BRHEB 10.275 B RS

—— TEHAE BLELR |, : | (2630
(BIR) 2t WIEET | ERHE 5 50| B

o — EBWSE —SERR | ' (2630)
(£/0~XEiE) 2 — AT R R 10,275| BEEHR

RN — B8 FERRE . B IZH ~ : (2630)
ABROIK) A =amen |EHRHER 33757| BEEEE

EHRRESE —REE —AREKE |, LE =% ’ (2630)
- ﬁ'??ﬂ TES b= A1 x —TIEBR®RR 58.800 ﬁﬁ(ﬁ%%ﬁg%

EHUEER —RE =E—BEE |, E )
Higs 0 A % a 62,475 EEEEER

i —RRE BLTER |, — : (2630)
(BFHR/1/5R) AT EHEA |EBHE 71,040 BEEEE

——— —REE —mHRE . : (2630)
T s FEEET  |[EBHER 47 617| BEEHR

B EEE —BLIE - N . ' (2630)
Iz;; ji?iﬂa,iﬁ 2 X B2 72 E AT | R 68,045 TP L EKER

ERTEN RS Eih7E ARERR |, = ' 2630
UNF ATE) e ABIEN mpmmam | 10095 EEAES

mRTEAEER | LoLLBRARR | AR~ —
(REHAIE) i AT |mewEs® | 133903 TR

EriEaEe | RRE LEHRER |, v : (2672)
U\B5E) #h EPunt-lmammsg | 7100 BELER

EPEHEE P N E ’ T
- | 48 ; EEET [ERES RS

RS — | e (2672)
S - — DAERIEME| | 10 07g EREER

2 E oo HEE 010078 (26

SEREFE ERBEBHER - . e
- - |xEReBR 54,457 ’E%@Eﬁ

EREREE ERBEHE o
- BIERN - - |ERegT 109,035 HEATTIER
SENREE —fEEE 1638 2 EEH |EEI 63,000 ﬁ%g%ﬁ

BE-HEAREE |(TTUVE RERNLE EFIZ —
. , EULH \pm-mBan | aosse DD IR

D E R | B S48 |;

- B ABERR 2 ERE\H|EET 10,500| EEEEIER
HEEEEX —jEEE1658 T BIUBTIE RN g e “géézng
— ~EEmE PR 71,984| BEEER
BRIEBER ERBEHHEN _ - 287D
— - BRARE 60,900 ’5%5%*
" SRR ZHREN RS 5 ~

T EEEN [ RRuET s 62,100 ‘ANIER

BB B RRIIEE |, | (2679
- =5 2T BEf A 41550 IER

ANSEEE ZEA 3 BEE/N ’ (2679)
= I AR & Bm-ma | 326,880 5("72“5%
ANBIESER b’ 30 ; o
IRl s 52 B ch LI BT K P 5 6300 TIER

A EE —#%AT) | . . ' 2679)
i Il EH AIEAT kP EE 4,200 5?“'%

' 2679)

XEHAEERDE2RBEFHITH N DHD




BT

3

—_

32

33

34

35

36

37

38

39

40

41

42

43

44

45

46

47

48

49

50

51

52

53

54

THSEE BRIEZRFEN AXEXZRTFEEMOLEED)

e PREEHH)
; = B
%2 #7111 % taa | xFE | swmm | oo | RER
: =gl TR CEE |, ] e
Al S 25 =) A HEf A= 11302 (2679)
IR B =Nl m 2 TEET (@ 8220 TNER
IR — AN R T B LB, 37 811 B 20550 7IIER
I B — BN AR 2 WEET s 5137 MR
AREATERHEFEE| 3o =z _ _ |aRIAmERE IlE:
% . /iﬁaﬁgfﬁlﬁ%m ﬁ%lﬂ x 655,282 (2686)
NS EE BB L 2 SPINF g st | teas2| TN
— =W EERI-E |, — |- IR
AINERE n =43 AE 5,000 9ga2)
IE S % b s SEAHT/\ B2 T 31,500 Bﬁfi?g% =
1)) N 3 %*ZHT—Fg = Wi‘y‘if’hﬂﬁﬁ
R =S ZHE & = BT 10,5001 ™ o697y
BIH% BB i % BT BT 31.500| PELBIER
N ~ : EXTE 1 . EPE]
TN RS —1 T 5 1BIET 31,500| 5697y
BRI RN EBE| R #h TERTFED[AET 30.000| PELBIER
BB B KB | ERR 2 % EAT =40 s T 30.000| PELBIER
BIATFUREE |EWLIES 2 SH07)1| £ |EiR T 5,250 PIBIER
AFEATERHEFEE| 30 =z _ _ |aRTAmEE TSR
p % ERBEBHHER | 160,762 P00
AFEATERAEFEE| 30 =z _ IS BL BEE
B * EEREBHEN e 32,4407 10V
BRATIUASE [RRREBHERN - Y 1,050/ 7% BEER
BRATIUASE [RRREBHERN - Y 1,050/ 5% BEEER
BERERERFER LI RR. BEE |4 =m |EmT sa 00| B TR
maEanEEg | CRBRREREK e 115,500| 27 AR

g (2690)
BRATIUREE [RMRSEE(GER) |2 guggen| 20 BB | g5 g0 B IR
BEAUTFOREE [BOES BIERE) R BE |MBBEHT | sossol g n
BAUEEE RS (PRBBE) |20 ST | S T 40000/ 5% BEER
e J—— . SIFB3TE | ERTTBURER
e STTEAT B IBETRE 0 63 |27 ILESTE |umer s 40,000 FHEA
ait 4,990,770

XEHAEERDE2RBEFHITH N DHD




BT

—_

SMIEE BIBHER 2

HEXERFERR OLELHERHED)

GRRBEHH)
¥4 e371) 11 WL | KTH | BREE | a0 |
‘ —REE3685 (TAR |, ERETAR]. EERRR
EHRETE £ Ree8E 2 = B B 73,500 HHEE
— A ey M ELH
ERREFR (B BHER ey EEE |ERHE 193,067 HEIREEE
ERTENRTE | oor i AREER g SEPEA EammEag | oasoo HEREER
= TENFE DRARR | Ll e— SRR
CEG e S P e e AEwm |PREENE | 04500 00
THRERRERER| TESE ABELR 2 £07)\ K[ EET 31.400| HEAEEER
S EBMAE RERAL |, EHroF [BE-BEAR B EER
FE-HEMKREEX i '$Fﬁ JIESN IEE' ~ 12,621 (2677)
EREEER EREBHHER - - |mzesc 35,700 ‘HEAEEER
IS SHRAN BEEN | it oI 31500 IIER
; T N BRBIEL (o AR
BB — s A = B e I 86,100 “ye0e)
: —@Al RRIIEE |, - : AR
RIS 25 =) A HEM A 105001 "(2679)
i)y = /N 3 %*ZHT—Fg = I‘ji«(b-d\lyig%
BB % 8 2 s ERT 52,500 722205
BIHBER 21| B - - |mmm= 45.000| PIELBIER
BEATTUREE [RRIGEGRRE) |26 BE |MSBERT 21,200/ BEER
BERE R ERER LK RE. DX | — - Bt mER
B% s S (i i 1470001 ™ (36001
LI EE S = B [ 31,500| S BIER
g (2690)
BRATTUAEE |[RRIEEER PR |2h guggen| 20 BB | g g0 B IR
&t 997,188

(ETHHAFEEDE2RBETFEIZHNEDELD)




